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mi(t)+cx(t)+kx(t) = Fsinax
#4245 x(0)=0 » ¥ ik F 2(0)=0 » KL x(1) ° (15%)
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(1) KA 1§ 2 ¥ 4 ¥ (Fourier Scries) & 7 f(f) » (15%)
(2) AR f() 14 2 XA 4 (Fourier Integral) » (5%)
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(1) M RIEMA 4 84l (Eigenvalue) 4 & & & (Eigenvector) » (10%)
(2) &K —JE X 46 M (Orthogonal Matrix) » 46 45 LA # A {ft.(Diagonalize) * (5%)

WA F & 54 (Normal Distribution) #) & £45 » 3 8 — 4] 495 J M4 2 3 T
TR AR - (10%)

Cdn — MR x,i=1,2...,n » LY K F 4 (Sample Mean) ﬁ=%ix, #

AR R K (Sample Variance) &zz'—l-l—lz";(x,.—/ft)z SHEGEMFHE u FER
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M B X Fo Y 2 400 85 (Linear Regression) M 1& X4 T :
Y=o+ X

(1) 32U s 7 3 (Least-Square Method) it §afe f2 £ A X, (10%)
(2) 8ZX(X, )X FHET -

X | -2.0 0.6 1.4 1.3 00 | -1.6 | -1.7 0.7
Y 1 -6.1 -0.5 7.2 6.9 | -0.2 | -2.1 -3.9 3.8
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(3) LHX=0.2 » Y4 P33 lide £ — @48 M £ (Standard Deviation) & 1T ? (5%)




